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1. 'Ω = {1, 2, 3, 4, 5, 6, 7, 8}, A1 = {1, 2}, A2 = {1, 2, 3}, A3 = {4, 5, 6, 7,
8}��¶��âA1, A2, A3�t�Ýσ−�F , ¬3Fî�L×^£ÐóP�

2. 'Ω = {1, 2, 3, 4}, F
�âΩ�Xb�/Ýσ−�, P ({ω}) = 1/4, ∀ω ∈ Ω��X(ω) =

ω, Y (ω) = 2ω��X�X + Y�5µ�

3. 'X1, X2, · · ·
}ñ, vXibU(0, i)5µ, i ≥ 1��O

(i) P (Xn < Xn−1 < · · · < X2 < X1), n ≥ 2;

(ii) P (X1 < X2 < X3)�

4. 'X1, · · · , Xn
 i.i.d. U(0, 1)5µ�r.v.’s, X(1) ≤ X(2) ≤ · · · ≤ X(n)�Í5�Ù�
���X(0) = 0, X(n+1) = 1�ê�Uk = X(k) −X(k−1), 1 ≤ k ≤ n + 1�

(i) �OUk�p.d.f.�

(ii) �¼�Ukb£×ð�5µ, ¬��¢ó�

(iii) �OP (Uk > t), 0 ≤ t ≤ 1�

5. 'X1, X2, X3
i.i.d. Ber(1/2)5µ�r.v.’s��

A1 = {X2 = X3}, A2 = {X3 = X1}, A3 = {X1 = X2}�
�®(i) A1, A2, A3ÎÍNE}ñ? (ii) ÎÍ8!}ñ?

6. 'b×^£è (Ω,F , P ), Í�Ω = (0, 1], F
�âΩîXb�  �t�
Ýσ−�, P
ΩîÝLebesque?���X(ω) = ω, Y (ω) = 1− ω, ω ∈ Ω, v

Z(ω) =

{
ω + 1/2, ω ∈ (0, 1/2],

ω − 1/2, ω ∈ (1/2, 1]�

�X�(i) X, (ii) Y , (iii) Z, (iv) X + Y�5µ�


